


How many such pairs of letters are there in the 

word DEMOGRAPHY each of which has as many 

letters between them in the word (Both in forward 

and backward direction) as they have between 

them in the English alphabetical order?

DEMOGRAPHY शब्द में ऐसे कितने अक्षर ों िे ज ड़े हैं, 

कजनमें से प्रते्यि में शब्द (आगे और पीछे द न ों कदशाओों में) 

िे बीच उतने ही अक्षर हैं कजतने उनिे बीच अोंगे्रजी वर्णमाला

क्रम में ह ते हैं?

a) One / एि

b) Two / द 

c) Three / तीन

d) Four / चार

e) More than four / चार से अकिि



Statements / िथन :

T = R,   N > M,   R < M 

Conclusions / कनष्कर्ण :

(I)  M > T         

(II) R < N

a) If only conclusion I is true. 

b) If only conclusion II is true 

c) If either conclusion I or II is true 

d) If neither conclusion I nor II is true 

e) If both conclusions I and II are true



Statements / िथन :

M > D,   W > V,   D > V 

Conclusions / कनष्कर्ण :

(I)  M = W          

(II) M < V 

a) If only conclusion I is true.

b) If only conclusion II is true.

c) If either conclusion I or II is true. 

d) If neither conclusion I nor II is true. 

e) If both conclusions I and II are true.



Statements / िथन :

B < V,   M > Z,   V = M 

Conclusions / कनष्कर्ण :

(I)  B = M             

(II)  Z < V 

a) If only conclusion I is true 

b) If only conclusion II is true 

c) If either conclusion I or II is true.  

d) If neither conclusion I nor II is true. 

e) If both conclusions I and II are true.



Which of the following symbols should be placed in 

the blank spaces respectively (in the same order 

from left to right) in order to complete the given 

expression in such a manner that “X > K” definitely 

holds True?

कदए गए अकिव्यक्ति ि इस तरह से पूरा िरने िे कलए

कनम्नकलक्तित में से िौन से प्रतीि ों ि क्रमशः ररि स्थान ों में

(बाएों से दाएों समान क्रम में) रिा जाना चाकहए ताकि "X > K" 

कनकित रूप से सत्य ह ?

X __ G __ K __ Y

a) >, ≥, <  

b) ≤, <, = 

c) <, >, = 

d) <, <, > 

e) None of these 



Which of the following symbols should be placed in 
the blank spaces respectively(in the same order from 
left to right) in order to complete the given 
expression in such a manner that both    
“K > Q” as well as “Q ≤ D” definitely holds true?
कदए गए अकिव्यक्ति ि पूरा िरने िे कलए कनम्नकलक्तित में से
िौन से प्रतीि ों ि क्रमशः ररि स्थान ों में (बाएों से दाएों समान
क्रम में) रिा जाना चाकहए ताकि द न ों
"K > Q" िे साथ-साथ "Q ≤ D" िी कनकित रूप से सत्य है?
D _ A _ Q _ C _ K

a) ≥, =, ≤, <
b) ≥, ≥, ≥, ≤
c) >, >, ≥, <
d) >, ≥, <, =
e) None of these 



In which of the following statements does the 
expression 'T ≤ P' is definitely true.
कनम्नकलक्तित में से किस िथन में अकिव्यक्ति 'T ≤ P' कनकित
रूप से सत्य है।

a) M > D ≥ T < H ≤ E ≤ P  
b) M > T ≤ O = W = G ≤ P  
c) P > E ≥ D > G ≥ T ≥ O  
d) A = P = G < L ≥ T ≥ S  
e) P ≥ B ≥ M = L > C > T 



Eight students M, N, O, P, Q, R, S and T all are sitting 
around a circle and facing just opposite to the centre. 
O is sitting in front of P and second to the left of S. R 
and Q are not the neighbour of O. R is second to the 
left of T. N is third to the left of M and second to the 
right of P.
आठ छात्र M, N, O, P, Q, R, S और T सिी एि वृत्त िे चार ों
ओर बैठे हैं और िें द्र िे ठीि कवपरीत िा सामना िर रहे हैं।
O, P िे सामने बैठा है और S िे बायें से दूसरे स्थान पर बैठा
है। R और Q, O िे पड़ सी नही ों हैं। R, T िे बायें से दूसरे
स्थान पर है। N, M िे बायें से तीसरे और P िे दायें से दूसरे
स्थान पर है।



Eight students M, N, O, P, Q, R, S and T all are sitting 
around a circle and facing just opposite to the centre. 
O is sitting in front of P and second to the left of S. R 
and Q are not the neighbour of O. R is second to the 
left of T. N is third to the left of M and second to the 
right of P.

What is the position of S with respect to P?
a) Third to the left  
b) Second to the left 
c) Third to the right  
d) Fifth to the right 
e) Second to the right



Eight students M, N, O, P, Q, R, S and T all are sitting 
around a circle and facing just opposite to the centre. 
O is sitting in front of P and second to the left of S. R 
and Q are not the neighbour of O. R is second to the 
left of T. N is third to the left of M and second to the 
right of P.

Which of the following is true regarding Q as per the 
given seating arrangement? 
a) Q sits third to the left of S  
b) None of the given options is true 
c) Q is in front of M  
d) S is one of the immediate neighbours of Q 
e) Only two person sits between Q and T



Eight students M, N, O, P, Q, R, S and T all are sitting 
around a circle and facing just opposite to the centre. 
O is sitting in front of P and second to the left of S. R 
and Q are not the neighbour of O. R is second to the 
left of T. N is third to the left of M and second to the 
right of P.

Who is sitting in front of Q?
a) R 
b) M  
c) T 
d) N 
e) O



Eight students M, N, O, P, Q, R, S and T all are sitting 
around a circle and facing just opposite to the centre. 
O is sitting in front of P and second to the left of S. R 
and Q are not the neighbour of O. R is second to the 
left of T. N is third to the left of M and second to the 
right of P.

Who sits exactly between N and O?
a) S 
b) P 
c) M 
d) T 
e) R



Eight students M, N, O, P, Q, R, S and T all are sitting 
around a circle and facing just opposite to the centre. 
O is sitting in front of P and second to the left of S. R 
and Q are not the neighbour of O. R is second to the 
left of T. N is third to the left of M and second to the 
right of P.

Who sits to the immediate right of M?
a) N 
b) S 
c) R  
d) P 
e) T



A certain number of people are sitting in a row facing North. 

C sits at one of the ends and there are two people between 

C and B. There are as many people to the right of G as there 

are to the left of G. F is third to the left of B who sits fourth 

from one of the extreme ends of the row.  A sits at one of the 

extreme ends of the row. F does not sit at any of the extreme 

ends of the row. There are five persons sitting between A and 

D. E sits exactly in the middle of A and D. Two persons sit 

between D and G. There are as many persons sitting between 

F and C as many are sitting between F and D. 

एि पोंक्ति में एि कनकित सोंख्या में व्यक्ति उत्तर िी ओर उनु्मि ह िर

बैठे हैं। C एि छ र पर बैठा है और C और B िे बीच द ल ग हैं। G िे

दाईों ओर उतने ही ल ग हैं कजतने G िे बाईों ओर हैं। F, B िे बाएों से

तीसरे स्थान पर है ज किसी एि से चौथे स्थान पर बैठा है। पोंक्ति िे

अोंकतम छ र। A पोंक्ति िे किसी एि अोंकतम छ र पर बैठा है। F पोंक्ति िे

किसी िी अोंकतम छ र पर नही ों बैठा है। A और D िे बीच पाोंच व्यक्ति

बैठे हैं। E, A और D िे ठीि मध्य में बैठा है। D और G िे बीच द 

व्यक्ति बैठे हैं। F और C िे बीच उतने ही व्यक्ति बैठे हैं कजतने F और D 

िे बीच बैठे हैं।



A certain number of people are sitting in a row facing 

North. C sits at one of the ends and there are two people 

between C and B. There are as many people to the right 

of G as there are to the left of G. F is third to the left of B 

who sits fourth from one of the extreme ends of the row. 

A sits at one of the extreme ends of the row. F does not 

sit at any of the extreme ends of the row. There are five 

persons sitting between A and D. E sits exactly in the 

middle of A and D. Two persons sit between D and G. 

There are as many persons sitting between F and C as 

many are sitting between F and D. 

Who is sitting third to the right of F?

(a) D

(b) C

(c) A

(d) B

(e) E



A certain number of people are sitting in a row facing 

North. C sits at one of the ends and there are two people 

between C and B. There are as many people to the right 

of G as there are to the left of G. F is third to the left of B 

who sits fourth from one of the extreme ends of the row. 

A sits at one of the extreme ends of the row. F does not 

sit at any of the extreme ends of the row. There are five 

persons sitting between A and D. E sits exactly in the 

middle of A and D. Two persons sit between D and G. 

There are as many persons sitting between F and C as 

many are sitting between F and D. 

Who sits between F and D ?

(a) G

(b) E

(c) B

(d) F

(e) None of these



A certain number of people are sitting in a row facing 

North. C sits at one of the ends and there are two people 

between C and B. There are as many people to the right 

of G as there are to the left of G. F is third to the left of B 

who sits fourth from one of the extreme ends of the row. 

A sits at one of the extreme ends of the row. F does not 

sit at any of the extreme ends of the row. There are five 

persons sitting between A and D. E sits exactly in the 

middle of A and D. Two persons sit between D and G. 

There are as many persons sitting between F and C as 

many are sitting between F and D. 

How many persons sitting in a row?

(a) 20

(b) 19

(c) 23

(d) 14

(e) None of these



A certain number of people are sitting in a row facing 

North. C sits at one of the ends and there are two people 

between C and B. There are as many people to the right 

of G as there are to the left of G. F is third to the left of B 

who sits fourth from one of the extreme ends of the row. 

A sits at one of the extreme ends of the row. F does not 

sit at any of the extreme ends of the row. There are five 

persons sitting between A and D. E sits exactly in the 

middle of A and D. Two persons sit between D and G. 

There are as many persons sitting between F and C as 

many are sitting between F and D. 

Who among the following person sits sixth to the

right of G?

(a) F

(b) B

(c) D

(d) C

(e) None of these



A certain number of people are sitting in a row facing 

North. C sits at one of the ends and there are two people 

between C and B. There are as many people to the right 

of G as there are to the left of G. F is third to the left of B 

who sits fourth from one of the extreme ends of the row. 

A sits at one of the extreme ends of the row. F does not 

sit at any of the extreme ends of the row. There are five 

persons sitting between A and D. E sits exactly in the 

middle of A and D. Two persons sit between D and G. 

There are as many persons sitting between F and C as 

many are sitting between F and D. 

How many persons are sitting between D and C?

(a) 9

(b) 13

(c) 10

(d) 12

(e) 11



KIT    NRO    JEL    SAD    DFS     CVB

What will come in place of question mark (?) in the 
following series?
कनम्नकलक्तित शृ्ोंिला में प्रश्न कचह्न (?) िे स्थान पर क्या आएगा? 

RN,   EJ,   AS,   FD,   ?

a) KT 
b) IN 
c) VC 
d) BV 
e) None of these



KIT    NRO    JEL    SAD    DFS     CVB

If all the letters in each of the words are arranged 
alphabetically (within the word), how many words 
will not be changed? 
यकद प्रते्यि शब्द िे सिी अक्षर ों ि वर्ाणनुक्रम में (शब्द िे
िीतर) व्यवक्तस्थत किया जाता है, त कितने शब्द अपररवकतणत
रहेंगे?

a) All 
b) Three 
c) One 
d) Two 
e) More than three



KIT    NRO    JEL    SAD    DFS     CVB

If the letters of all the words are arranged in 
alphabetical order with in the word, how many will 
form meaningful English words?
यकद सिी शब्द ों िे अक्षर ों ि शब्द िे साथ वर्ाणनुक्रम में
व्यवक्तस्थत किया जाता है, त कितने साथणि अोंगे्रजी शब्द
बनेंगे? 

a) None 
b) Three 
c) One 
d) Two 
e) More than three



KIT    NRO    JEL    SAD    DFS     CVB

If the positions of the first and third letters of all the 
words are interchanged, then arranged the words in 
descending order according to English alphabetical 
series. Which word would be third from the right 
end? 
यकद सिी शब्द ों िे पहले और तीसरे अक्षर परस्पर बदल कदए
जाए, तत्पिात अोंगे्रजी वर्णमाला शृ्ोंिला िे अनुसार शब्द ों ि 
अवर ही क्रम में व्यवक्तस्थत किया जाता है। दायें छ र से िौन-
सा शब्द तीसरा ह गा?

a) JEL 
b) NRO 
c) KIT 
d) CVB 
e) DFS



KIT    NRO    JEL    SAD    DFS     CVB

If the second letter of all the words is changed to its 
next letter in the English alphabetical series, then 
how many words will have vowel? (Same or different 
vowel)
यकद सिी शब्द ों िे दूसरे अक्षर ि अोंगे्रजी वर्णमाला शृ्ोंिला में
उसिे अगले अक्षर में बदल कदया जाता है, त कितने शब्द ों में
स्वर ह गा? (वही या अलग स्वर) 

a) None 
b) Three 
c) Two 
d) More than three 
e) One



7 Chief Ministers O, P, Q, R, S, T and U  visit different state – UP, 
Goa, MP, HP, AP, J&K and Punjab in different days in a week from 
Monday to Sunday but not necessarily in the same order. U visits a 
state on Saturday. Two persons visit the state between O and U. 
Maximum three people visit the state after S who is chief minister 
of HP. T is chief minister of Punjab. O does not visit UP and MP. 
There are three people who visit the states between P and Q. P 
and U are visit the states Goa and AP respectively. P visits the 
state before O. T does not visit the state on Tuesday and Thursday. 
Q does not visit MP. S does not visit the state on Tuesday.
7 मुख्यमोंत्री ओ, पी, कू्य, आर, एस, टी और यू अलग-अलग राज् ों िा दौरा
िरते हैं - यूपी, ग वा, एमपी, एचपी, एपी, जमू्म और िश्मीर और पोंजाब एि
सप्ताह में स मवार से रकववार ति अलग-अलग कदन ों में लेकिन जरूरी नही ों
कि इसी क्रम में ह ों . U शकनवार ि एि राज् िा दौरा िरता है। O और U 
िे बीच द व्यक्ति राज् िा दौरा िरते हैं। S िे बाद अकिितम तीन ल ग
राज् िा दौरा िरते हैं, ज कहमाचल प्रदेश िे मुख्यमोंत्री हैं। T पोंजाब िा
मुख्यमोंत्री है। O, यूपी और एमपी िी यात्रा नही ोंिरता है। P और Q िे बीच
तीन व्यक्ति राज् ों िा दौरा िरते हैं। P और U क्रमशः ग वा और AP राज् ों
िा दौरा िरते हैं। P, O से पहले राज् िा दौरा िरता है। T मोंगलवार और
गुरुवार ि राज् िा दौरा नही ोंिरता है। Q एमपी में नही ोंजाता है। S 
मोंगलवार ि राज् िा दौरा नही ोंिरता है।



7 Chief Ministers O, P, Q, R, S, T and U  visit different state – UP, 
Goa, MP, HP, AP, J&K and Punjab in different days in a week from 
Monday to Sunday but not necessarily in the same order. U 
visits a state on Saturday. Two persons visit the state between O 
and U. Maximum three people visit the state after S who is chief 
minister of HP. T is chief minister of Punjab. O does not visit UP 
and MP. There are three people who visit the states between P 
and Q. P and U are visit the states Goa and AP respectively. P 
visits the state before O. T does not visit the state on Tuesday 
and Thursday. Q does not visit MP. S does not visit the state on 
Tuesday.

Which of the following combinations is definitely correct? 
कनम्नकलक्तित सोंय जन ों में से िौन सा कनकित रूप से सत्य है?

a) O visits the state UP 
b) P visits a state on Monday 
c) T visits just after Q 
d) S visits HP state on Sunday 
e) None of the above



7 Chief Ministers O, P, Q, R, S, T and U  visit different state – UP, 
Goa, MP, HP, AP, J&K and Punjab in different days in a week from 
Monday to Sunday but not necessarily in the same order. U 
visits a state on Saturday. Two persons visit the state between O 
and U. Maximum three people visit the state after S who is chief 
minister of HP. T is chief minister of Punjab. O does not visit UP 
and MP. There are three people who visit the states between P 
and Q. P and U are visit the states Goa and AP respectively. P 
visits the state before O. T does not visit the state on Tuesday 
and Thursday. Q does not visit MP. S does not visit the state on 
Tuesday.

How many persons visit between P and S?
P और S िे बीच कितने व्यक्ति दौरा िरते हैं? 

a) Two 
b) One 
c) Three 
d) Four 
e) None of these



7 Chief Ministers O, P, Q, R, S, T and U  visit different state – UP, 
Goa, MP, HP, AP, J&K and Punjab in different days in a week from 
Monday to Sunday but not necessarily in the same order. U 
visits a state on Saturday. Two persons visit the state between O 
and U. Maximum three people visit the state after S who is chief 
minister of HP. T is chief minister of Punjab. O does not visit UP 
and MP. There are three people who visit the states between P 
and Q. P and U are visit the states Goa and AP respectively. P 
visits the state before O. T does not visit the state on Tuesday 
and Thursday. Q does not visit MP. S does not visit the state on 
Tuesday.

Who visits the state MP? 
एमपी राज् िा दौरा िौन िरता है?

a) Q 
b) O 
c) T 
d) R 
e) Cannot be determined



7 Chief Ministers O, P, Q, R, S, T and U  visit different state – UP, 
Goa, MP, HP, AP, J&K and Punjab in different days in a week from 
Monday to Sunday but not necessarily in the same order. U 
visits a state on Saturday. Two persons visit the state between O 
and U. Maximum three people visit the state after S who is chief 
minister of HP. T is chief minister of Punjab. O does not visit UP 
and MP. There are three people who visit the states between P 
and Q. P and U are visit the states Goa and AP respectively. P 
visits the state before O. T does not visit the state on Tuesday 
and Thursday. Q does not visit MP. S does not visit the state on 
Tuesday.

S visits the state in which of the following day?
कनम्नकलक्तित में से किस कदन S राज् िी यात्रा िरता है? 

a) Tuesday 
b) Monday 
c) Thursday 
d) Sunday 
e) Wednesday



7 Chief Ministers O, P, Q, R, S, T and U  visit different state – UP, 
Goa, MP, HP, AP, J&K and Punjab in different days in a week from 
Monday to Sunday but not necessarily in the same order. U 
visits a state on Saturday. Two persons visit the state between O 
and U. Maximum three people visit the state after S who is chief 
minister of HP. T is chief minister of Punjab. O does not visit UP 
and MP. There are three people who visit the states between P 
and Q. P and U are visit the states Goa and AP respectively. P 
visits the state before O. T does not visit the state on Tuesday 
and Thursday. Q does not visit MP. S does not visit the state on 
Tuesday.

T visit the state in which of the following day?
T कनम्नकलक्तित में से किस कदन राज् िा यात्रा िरता है? 

a) Tuesday 
b) Monday 
c) Thursday 
d) Sunday 
e) Wednesday



There are six friends A, B, C, D, E and F in a building 
starting from ground floor number 1 to top floor 
number 6. Only one friend lives on each floor. F lives 
on a prime number floor. A does not live on an odd 
numbered floor. B does not live on the 1st number 
floor. There are only two floors between E and F. E 
lives on the floor which is immediately above the D’s 
floor. F does not live on an odd numbered floor.
एि इमारत में िूतल सोंख्या 1 से लेिर शीर्ण मोंकजल सोंख्या 6 
ति छह कमत्र A, B, C, D, E और F हैं। प्रते्यि मोंकजल पर
िेवल एि कमत्र रहता है। F अिाज् सोंख्या वाली मोंकजल पर
रहता है। A कवर्म सोंख्या वाली मोंकजल पर नही ों रहता है। B 
पहली सोंख्या मोंकजल पर नही ों रहता है। E और F िे बीच िेवल
द मोंकजलें हैं। E उस मोंकजल पर रहता है ज D िी मोंकजल िे
ठीि ऊपर है। F कवर्म सोंख्या वाली मोंकजल पर नही ों रहता है।



There are six friends A, B, C, D, E and F in a building 
starting from ground floor number 1 to top floor 
number 6. Only one friend lives on each floor. F lives 
on a prime number floor. A does not live on an odd 
numbered floor. B does not live on the 1st number 
floor. There are only two floors between E and F. E 
lives on the floor which is immediately above the D’s 
floor. F does not live on an odd numbered floor.
Which friend lives on 5th floor?

a) A
b) E 
c) F
d) D 
e) B



There are six friends A, B, C, D, E and F in a building 
starting from ground floor number 1 to top floor 
number 6. Only one friend lives on each floor. F lives 
on a prime number floor. A does not live on an odd 
numbered floor. B does not live on the 1st number 
floor. There are only two floors between E and F. E 
lives on the floor which is immediately above the D’s 
floor. F does not live on an odd numbered floor.
How many floors are there between F and A?

a) Two 
b) Three
c) One 
d) None
e) None of these



There are six friends A, B, C, D, E and F in a building 
starting from ground floor number 1 to top floor 
number 6. Only one friend lives on each floor. F lives 
on a prime number floor. A does not live on an odd 
numbered floor. B does not live on the 1st number 
floor. There are only two floors between E and F. E 
lives on the floor which is immediately above the D’s 
floor. F does not live on an odd numbered floor.
Which of the following friends, live on an even 
number floor?

a) CBF 
b) CBE
c) DBE 
d) ADF
e) None of these



How many pairs of letters are these in the word 
“EXCELLENT” each of which has as many letters 
between them in the word as in the English 
alphabetical series?
शब्द "EXCELLENT" में अक्षर ों िे ऐसे कितने ज ड़े हैं कजनमें
से प्रते्यि िे बीच शब्द में उतने ही अक्षर हैं कजतने अोंगे्रजी
वर्णमाला शृ्ोंिला में ह ते हैं?

a) None 
b) One 
c) Two 
d) Three 
e) None of these



In some of the following logic QUALITY is coded as 
IEYNQFA following the same logic PRAKASH will be 
coded as-
कनम्नकलक्तित िुछ तिों में QUALITY ि IEYNQFA िे रूप
में ि कित किया गया है, उसी तिण िा अनुसरर् िरते हुए
PRAKASH ि इस प्रिार ि कित किया जाएगा-

01. JYHOYGR 
02. JHBOYIR 
03. JHYOYGR 
04. JYHOFGR 
05. None of the above



Directions- Study the following information 

carefully and answer the questions given below. 

Eight persons A, B, C, D, E, F, G, and H were born 

on the same date and same month of different years 

viz. 1948, 1953, 1956, 1959, 1964, 1966, 1972, and 

1981 but not necessarily in the same order. The 

calculation of their age is based on the current year 

2020. Two persons were born between the one who 

was born in an odd-numbered year and the one 

who was born immediately before B. The number of 

persons born before B is the same as the number of 

persons born after H. The difference between the 

ages of A and G is 5. Three persons were born 

between G and F, who was not the youngest. C was 

not born in an odd-numbered year and was born 

after D. E was not born immediately after C.



कनदेश- कनम्नकलक्तित जानिारी िा ध्यानपूवणि अध्ययन

िीकजये और नीचे कदए गए प्रश्न ों िे उत्तर दीकजये।

आठ व्यक्तिय ों A, B, C, D, E, F, G, और H िा जन्म

कवकिन्न वर्ों जैसे 1948, 1953, 1956, 1959, 1964, 1966, 

1972 और 1981 िी समान तारीि और समान महीन ों में

हुआ था लेकिन आवश्यि नही ों इसी क्रम में ह । उनिी

आयु िी गर्ना वतणमान वर्ण 2020 पर आिाररत है। कवर्म

सोंख्या वाले वर्ण में पैदा हुए व्यक्ति और B िे ठीि पहले

पैदा हुए व्यक्ति िे बीच द व्यक्तिय ों िा जन्म हुआ था। B 

से पहले पैदा हुए व्यक्तिय ों िी सोंख्या, H िे बाद पैदा हुए

व्यक्तिय ों िी सोंख्या िे समान है। A और G िी आयु िे

बीच िा अोंतर 5 है। G और F, ज सबसे छ टा नही ों था, िे

बीच तीन व्यक्तिय ों िा जन्म हुआ था। C िा जन्म एि

कवर्म सोंख्या वाले वर्ण में नही ों हुआ था और उसिा जन्म D 

िे बाद हुआ था। E िा जन्म C िे तुरोंत बाद नही ों हुआ था।



Two persons were born between the one who 

was born in an odd-numbered year and the 

one who was born immediately before B. The 

number of persons born before B is the same 

as the number of persons born after H. The 

difference between the ages of A and G is 5. 

Three persons were born between G and F, 

who was not the youngest. C was not born in 

an odd-numbered year and was born after D. 

E was not born immediately after C.

Who was born in the year 1972?

a) A

b) C

c) E

d) H

e) G



Two persons were born between the one who 

was born in an odd-numbered year and the 

one who was born immediately before B. The 

number of persons born before B is the same 

as the number of persons born after H. The 

difference between the ages of A and G is 5. 

Three persons were born between G and F, 

who was not the youngest. C was not born in 

an odd-numbered year and was born after D. 

E was not born immediately after C.

What is the age difference between C and F?

a) 12

b) 20

c) 18

d) 13

e) 33



Two persons were born between the one who 

was born in an odd-numbered year and the 

one who was born immediately before B. The 

number of persons born before B is the same 

as the number of persons born after H. The 

difference between the ages of A and G is 5. 

Three persons were born between G and F, 

who was not the youngest. C was not born in 

an odd-numbered year and was born after D. 

E was not born immediately after C.

E was born in which year?

a) 1953

b) 1966

c) 1964

d) 1981

e) 1972



Two persons were born between the one who 

was born in an odd-numbered year and the 

one who was born immediately before B. The 

number of persons born before B is the same 

as the number of persons born after H. The 

difference between the ages of A and G is 5. 

Three persons were born between G and F, 

who was not the youngest. C was not born in 

an odd-numbered year and was born after D. 

E was not born immediately after C.

What is the sum of age of A and G?

a) 110

b) 117

c) 102

d) 87

e) None of these



Two persons were born between the one who 

was born in an odd-numbered year and the 

one who was born immediately before B. The 

number of persons born before B is the same 

as the number of persons born after H. The 

difference between the ages of A and G is 5. 

Three persons were born between G and F, 

who was not the youngest. C was not born in 

an odd-numbered year and was born after D. 

E was not born immediately after C.

Who was born exactly between B and C?

a) G

b) H

c) A

d) D

e) E



Statements / िथन :

All A are Z / सिी AZ हैं।

Some Z are P / िुछ ZP हैं।

No P is Q / ि ई P, Q नही ों हैं।

Conclusions / कनष्कर्ण :

I) Some A being Q is a possibility 

िुछ A िे Q ह ने िी सोंिावना है।

II)Some P being Z is a possibility

िुछ B िे Z ह ने िी सोंिावना है।

a) If only conclusion I follows. 

b) If only conclusion II follows. 

c) If either I or II follows. 

d) If neither I nor II follows. 

e) If both I and II follow



Statements / िथन :

Some 2 are 4 / िुछ 2, 4 हैं।

No 4 is 7 / ि ई 4,7 नही ों है।

No 7 is 1 / ि ई 7, 1 नही ों है।

Conclusions / कनष्कर्ण :

I) No 1 is 2 /

ि ई 1, 2 नही ों हैं।

II) Some 7 being 2 is a possibility

िुछ 7 िे 2 ह ने िी सोंिावना है।

a) If only conclusion I follows. 

b) If only conclusion II follows. 

c) If either I or II follows. 

d) If neither I nor II follows. 

e) If both I and II follow.



Statements / िथन :

No A are P / ि ई A P नही ों हैं।

No A are L / ि ई EL नही ों हैं।

No L are P / ि ई DP नही ों हैं।

Conclusions / कनष्कर्ण :

I) Some P are A is a possibility 

िुछ P िे A ह ने िी सम्भावना है।

II) Some L are not P is not a possibility

िुछ L, P नही ों ह ने िी सम्भावना नही ों हैं।

a) If only I follows. 

b) If only II follows. 

c) If either I or II follows 

d) If neither I nor II follows. 

e) If both I and II follow



A, B, C, D, E, F, G, and H are sitting around a square table in
such a way that four of them sit at four corners of the table
while four of them sit in the middle of each of the four sides.
The one who sits in the middle of the sides faces the center
while those sit at the four corners face outside but not
necessarily in the same order. No two successive people sit
with each other according to alphabetical order (such as A
does not with B, B does not with A and C so on). F faces
towards the center. G sits fourth to the left of F. H sits third to
the right of E. A sits immediate right of D. D is an immediate
neighbor of F. C sits second to the left of B.
A, B, C, D, E, F, G, और H एि वगाणिार मेज िे चार ों ओर इस प्रिार बैठे
हैं कि उनमें से चार मेज िे चार ों ि न ों पर बैठे हैं जबकि उनमें से चार
प्रते्यि िे मध्य में बैठे हैं। पक्ष। ज िुजाओों िे मध्य में बैठे हैं उनिा मुि
िें द्र िी ओर है जबकि वे ज चार ों ि न ों पर बैठे हैं उनिा मुि बाहर िी
ओर है लेकिन आवश्यि नही ों इसी क्रम में ह । ि ई िी द क्रकमि व्यक्ति
वर्ाणनुक्रम िे अनुसार एि दूसरे िे साथ नही ों बैठते हैं (जैसे A, B िे साथ
नही ों, B, A और C िे साथ नही ों इसी प्रिार आगे िी)। F िा मुि िें द्र िी
ओर है। G, F िे बायें से चौथे स्थान पर बैठा है। H, E िे दायें से तीसरे
स्थान पर बैठा है। A, D िे ठीि दायें बैठा है। D, F िा कनिटतम पि सी
है। C, B िे बायें से दूसरे स्थान पर बैठा है।



A, B, C, D, E, F, G, and H are sitting around a square table
in such a way that four of them sit at four corners of the
table while four of them sit in the middle of each of the
four sides. The one who sits in the middle of the sides
faces the center while those sit at the four corners face
outside but not necessarily in the same order. No two
successive people sit with each other according to
alphabetical order (such as A does not with B, B does not
with A and C so on). F faces towards the center. G sits
fourth to the left of F. H sits third to the right of E. A sits
immediate right of D. D is an immediate neighbor of F. C
sits second to the left of B.
Which of the following statement is false?
I. G is facing outside.
II. E is facing outside
III. H is facing outside

(a) Both I and II
(b) Only III
(c) Only II
(d) Both II and III
(e) Only I



A, B, C, D, E, F, G, and H are sitting around a square table
in such a way that four of them sit at four corners of the
table while four of them sit in the middle of each of the
four sides. The one who sits in the middle of the sides
faces the center while those sit at the four corners face
outside but not necessarily in the same order. No two
successive people sit with each other according to
alphabetical order (such as A does not with B, B does not
with A and C so on). F faces towards the center. G sits
fourth to the left of F. H sits third to the right of E. A sits
immediate right of D. D is an immediate neighbor of F. C
sits second to the left of B.
Who sits immediate right of C?

(a) A
(b) E
(c) H
(d) D
(e) G



A, B, C, D, E, F, G, and H are sitting around a square table
in such a way that four of them sit at four corners of the
table while four of them sit in the middle of each of the
four sides. The one who sits in the middle of the sides
faces the center while those sit at the four corners face
outside but not necessarily in the same order. No two
successive people sit with each other according to
alphabetical order (such as A does not with B, B does not
with A and C so on). F faces towards the center. G sits
fourth to the left of F. H sits third to the right of E. A sits
immediate right of D. D is an immediate neighbor of F. C
sits second to the left of B.
How many persons sit between F and E, if counted
from right of E?

(a) One
(b)Three
(c)Two
(d) Four
(e) Six



A, B, C, D, E, F, G, and H are sitting around a square table
in such a way that four of them sit at four corners of the
table while four of them sit in the middle of each of the
four sides. The one who sits in the middle of the sides
faces the center while those sit at the four corners face
outside but not necessarily in the same order. No two
successive people sit with each other according to
alphabetical order (such as A does not with B, B does not
with A and C so on). F faces towards the center. G sits
fourth to the left of F. H sits third to the right of E. A sits
immediate right of D. D is an immediate neighbor of F. C
sits second to the left of B.
Who among the following person sits Sixth to the
left of G?

(a) B
(b) D
(c) C
(d) A
(e) H



There are 5 members of a family G, H, I, J and 

K standing in a park. G is standing 5 m to the 

southeast of I. H is standing 10 m to the east 

of G. J is standing 10 m to the north of H. K is 

standing 5 m to the west of I. 

एि पररवार िे 5 सदस्य G, H, I, J और K एि पािण

में िड़े हैं। G, I िे दकक्षर् पूवण में 5 मीटर िी दूरी पर

िड़ा है। H, G िे पूवण में 10 मीटर िी दूरी पर िड़ा है।

J, H िे उत्तर में 10 मीटर िी दूरी पर िड़ा है। K, I िे

पकिम में 5 मीटर िी दूरी पर िड़ा है।



There are 5 members of a family G, H, I, J and 

K standing in a park. G is standing 5 m to the 

southeast of I. H is standing 10 m to the east 

of G. J is standing 10 m to the north of H. K is 

standing 5 m to the west of I. 

In which direction is H with respect to K?

K िे सोंबोंि में, H किस कदशा में है? 

a) South west 

b) South east 

c) North east 

d) North west 

e) None of these



There are 5 members of a family G, H, I, J and 

K standing in a park. G is standing 5 m to the 

southeast of I. H is standing 10 m to the east 

of G. J is standing 10 m to the north of H. K is 

standing 5 m to the west of I. 

If Point A is 5 m to the west of H, then what is 

the distance between Point G and Point A? 

यकद कबन्दु A, H िे पकिम में 5 मीटर िी दूरी पर है, त 

कबन्दु G और कबन्दु A िे बीच िी दूरी क्या ह गी?

a) 13 m 

b) 3 m 

c) 4 m 

d) 5 m 

e) Can’t be determined



5 V P 7 # A J Q 8 Z X 2 E * G W & K 9 @ O C 3 N D 4 % U 6 I

If all the numbers in the above arrangement 

are dropped, which of the element will be the 

sixteenth from the right end? 

यकद उपर ि व्यवस्था से सिी सोंख्याओों ि हटा कदया

जाता है त कनम्न में से दायें छ र से स लहवाों तत्व िौन

सा ह गा?

a) E 

b) Z 

c) D 

d) C 

e) None of these



5 V P 7 # A J Q 8 Z X 2 E * G W & K 9 @ O C 3 N D 4 % U 6 I

Which of the following elements is the fifth to 

the right of the sixteenth from the right end of 

the above arrangement? 

उपर ि व्यवस्था में कनम्न में से दायें छ र से स लहवें िे

दायें पाोंचवाों तत्व िौन सा है?

a) O 

b) X 

c) G 

d) @ 

e) None of these



5 V P 7 # A J Q 8 Z X 2 E * G W & K 9 @ O C 3 N D 4 % U 6 I

How many such symbols are there in the 

above arrangement, each of which is 

immediately preceded by a number and 

immediately followed by a vowel? 

उपर ि व्यवस्था में ऐसे कितने प्रतीि हैं कजनमें से

प्रते्यि िे तुरोंत पहले एि सोंख्या और तुरोंत बाद में एि

स्वर है?

a) None 

b) One 

c) Two 

d) Three 

e) More than three



5 V P 7 # A J Q 8 Z X 2 E * G W & K 9 @ O C 3 N D 4 % U 6 I

How many such numbers are there in the 

above arrangement, each of which is 

immediately preceded by a vowel and 

immediately followed by a symbol? 

उपर ि व्यवस्था में ऐसी कितनी सोंख्याएँ हैं कजनमें से

प्रते्यि िे तुरोंत पहले एि स्वर है और तुरोंत बाद एि

प्रतीि है।

a) None

b) One 

c) Two 

d) Three 

e) More than three



5 V P 7 # A J Q 8 Z X 2 E * G W & K 9 @ O C 3 N D 4 % U 6 I

How many such consonants are there in the 

above arrangement, each of which is 

immediately preceded by a letter and 

immediately followed by a symbol? 

उपर ि व्यवस्था में ऐसे कितने व्योंजन कजनमें प्रते्यि

िे तुरोंत पहले एि अक्षर है और तुरोंत बाद एि प्रतीि

है?

a) None 

b) One 

c) Two 

d) Three 

e) More than three



There are five people Pavan, Kiran, Megha, 

Amogh and Prithvi. They all are working and 

have different salaries and also have 

different age. Megha gets more salary than 

Prithvi, but does not get the highest 

salary. Prithvi gets less salary than Kiran, 

but does not get the lowest salary. The 

person who gets the lowest salary is also 

the eldest person in the group. Pavan is the 

second youngest person and his salary is 

more than that Megha’s salary. Kiran is 

elder than three persons and Megha is not 

the youngest. Kiran does not earn the 

highest.

पाोंच व्यक्ति पवन, किरर्, मेघा, अम घ और पृथ्वी हैं। वे सिी िाम
िरते हैं और उनिा अलग-अलग वेतन है और उनिी आयु िी
अलग है। मेघा ि पृथ्वी से अकिि वेतन प्राप्त ह ता है, लेकिन
अकिितम वेतन प्राप्त नही ों ह ता है। पृथ्वी ि किरर् से िम वेतन
प्राप्त ह ता है, लेकिन नू्यनतम वेतन प्राप्त नही ों ह ता है। नू्यनतम
वेतन पाने वाला व्यक्ति समूह िा सबसे बड़ा व्यक्ति िी है। पवन
दूसरा सबसे छ टा व्यक्ति है और उसिा वेतन मेघा िे वेतन से
अकिि है। किरर् तीन व्यक्तिय ों से बड़ी है और मेघा सबसे छ टी
नही ों है। किरर् सबसे अकिि िमाई नही ोंिरती है।



There are five people Pavan, Kiran, Megha, 

Amogh and Prithvi. They all are working and 

have different salaries and also have 

different age. Megha gets more salary than 

Prithvi, but does not get the highest 

salary. Prithvi gets less salary than Kiran, 

but does not get the lowest salary. The 

person who gets the lowest salary is also 

the eldest person in the group. Pavan is the 

second youngest person and his salary is 

more than that Megha’s salary. Kiran is 

elder than three persons and Megha is not 

the youngest. Kiran does not earn the 

highest.

Who gets the highest salary?

किसे अकिितम वेतन प्राप्त ह ता है?

a) Amogh

b) Kiran

c) Pavan

d) Megha

e) Prithvi



There are five people Pavan, Kiran, Megha, 

Amogh and Prithvi. They all are working and 

have different salaries and also have 

different age. Megha gets more salary than 

Prithvi, but does not get the highest 

salary. Prithvi gets less salary than Kiran, 

but does not get the lowest salary. The 

person who gets the lowest salary is also 

the eldest person in the group. Pavan is the 

second youngest person and his salary is 

more than that Megha’s salary. Kiran is 

elder than three persons and Megha is not 

the youngest. Kiran does not earn the 

highest.

Who is the person who gets the least salary 

and is also the eldest?

वह व्यक्ति िौन है कजसे सबसे िम वेतन प्राप्त ह ता है और वह
सबसे बड़ा िी है?
a) Kiran

b) Pavan

c) Megha

d) Amogh



There are five people Pavan, Kiran, Megha, 

Amogh and Prithvi. They all are working and 

have different salaries and also have 

different age. Megha gets more salary than 

Prithvi, but does not get the highest 

salary. Prithvi gets less salary than Kiran, 

but does not get the lowest salary. The 

person who gets the lowest salary is also 

the eldest person in the group. Pavan is the 

second youngest person and his salary is 

more than that Megha’s salary. Kiran is 

elder than three persons and Megha is not 

the youngest. Kiran does not earn the 

highest.

Who is the youngest person?

सबसे छ टा व्यक्ति िौन है?

a) Prithvi

b) Megha

c) Pavan

d) Kiran

e) Can't be determined




